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QUESTION 1

What happens by default on a Nokia 7750 SR when a VPLS accepts a tagged frame at the ingress SAP 1/1/1:1007?
A. The FCS is verified and kept in the customer frame. The VLAN tag is kept and transported over the network.

B. The FCS is verified and kept in the customer frame. The VLAN tag is removed for transport over the network.

C. The FCS is verified and removed from the frame. The VLAN tag is kept for transport over the network.

D. The FCS is verified and removed from the frame. The VLAN tag is removed for transport over the network.

Correct Answer: D

QUESTION 2

Click the exhibit.

Rtr>config>router>bgp# info

local-as 64497
group “group"”
family ipvé
neighbor 2001:DB8:11::1
export "direct-bgp"
peer-as €44956
exit
exit
no shutdown

This output is from a router that is part of a 6VPE deployment using a VPRN. Which type of router would this
configuration be found on?

A. A CE router.
B. A P router.
C. A PE router.

D. Both P and PE routers.
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Correct Answer: A

QUESTION 3

All services mapped to an SDP use the same transport encapsulation type (either GRE or MPLS)
A. TRUE

B. FALSE

Correct Answer: A

QUESTION 4

Which of the following statements is FALSE regarding 6VPE?

A. Multiple MP-BGP sessions are required to carry VPN-IPv4 and VPN-IPv6 routes.

B. PE routers must support both IPv4 and IPv6 addresses; customer routers can use either one
C. In 6VPE, MP-BGP is used to advertise IPv6 prefixes and the associated VPRN label.

D. In 6VPE, the provider core routers are IPv6-unaware.

E. All of the above statements are true.

F. All of the above statements are false.

Correct Answer: A

QUESTION 5

Which of the following about SDPs is FALSE?

A. Spoke SDPs prevent loops in a VPLS.

B. Mesh SDPs and spoke SDPs can be used in the same VPLS.

C. A spoke SDP does not require the routers at both ends to be directly connected.
D. A mesh SDP is identical to a spoke SDP except for its flooding behavior.

Correct Answer: A
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